All ;] AN

20108 =& 2 3| JIEFSE3H A CHo &)

20k 22 - HHALY - SHAL(BI2)) Off A oH = = Hns2 ==
Z A 26,291,275 25,495,776 795,499 3.12%
PSELPNTes 26,078, 154 25,380,062 698,002 2.75%
nees 117,230 19,823 97,407 491.38%
HH2H A 95,891 95,891 0 0.00%
ZIEANYLOHHA 554 620 ABB|  A10.65%
THEHEETY - 2lere) 554 620 ABB|  A10.65%
WS (AL 22| D) 554 620 ABB|  A10.65%
BENS(LMLFTHIIALS LS H) 554 620 ~BB[  A10.65%
BALES 15,539,216 14,822,985 716,231 4.83%
AT - 2E 15,539,216 14,822,985 716,231 4.83%
g2 2 HFN I3 1,882,829 1,783,366 99,463 5.58%
METAL (M TAILSEFIH) 1,882,829 1,783,366 99,463 5.58%
ot==o ME e 13,614,881 13,020,416 594,465 4.57%
SHET AL (GBI AIRSE 3 ) 850,996 866,600 A 15,604 A1.80%
SEINEAS (S RN SE 3 H) 12,763,885 12,153,816 610,069 5.02%
WSS (AGHET A A) 41,506 19,203 22,303 116.14%
SRS (FENLSLEA) 41,506 19,203 22,303 116.14%
NP 1,100, 183 1,018,453 81,730 8.02%
I =MEg R 193,500 193,500 0 0.00%
HASS Moty X 193,500 193,500 0 0.00%
230 XA (A2 SHSLSAH) 193,500 193,500 0 0.00%
FHAAHSKE 75,170 0 75,170 100.00%
WRES(F2USXD 75,170 0 75,170 100..00%
SHENE(AZTSHELEA) 75,170 0 75,170 100.00%
Fe 831,513 824,953 6,560 0.80%
Nelz=)otH 831,513 824,953 6,560 0.80%
FEAY SEIH(FHAILSLIIA) 831,513 824,953 6,560 0.80%
S el At 2,205,533 2,315,065 A109,532 A4 T3%
5952 2,205,533 2,315,065 A 109,532 N4 T3%
SHEMA LS (ISHsH) 2,205,533 2,315,065 A109,532 A4 T3%
FOUASKIE L MEOIH(FOULSKALME 2,205,533 2,315,065 109,532 A4 73%

orSE3 )

+3LUE 703,345 698, 153 5,192 0.74%




&t o N3 o HlnsS2Z —
703,345 698,153 5,192 0.74%
703,345 698,153 5,192 0.74%
H(=XEALSESH) 703,345 698,153 5,192 0.74%
6,646,553 6,544,609 101,944 1.56%
3,833,577 3,936,309 A102,732 A2.61%
3,469,951 3,566,390 A96,439 N2.70%
3,310,362 3,350,000 A39,638 A1.18%
159,589 216,390 A56,801 N 26.25%
363,626 369,919 26,293 AT1.70%
363,626 369,919 26,293 AN1.70%
2,812,976 2,608,300 204,676 7.85%
2,812,976 2,608,300 204,676 7.85%
2,812,976 2,608,300 204,676 7.85%
95,891 95,891 0 0.00%
95,891 95,891 0 0.00%
HY2IAH (==X ) 49,000 49,000 0 0.00%
IHAAHI (AT SHES 3 49,000 49,000 0 0.00%
HY2HZHI (MGt AL ) 46,891 46,891 0 0.00%
eI (=AU SE 3 46,891 46,891 0 0.00%




